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30 O|H= (70~80q) 1
31 S 80~100g, = LH& 1
32 SER 100g, = LH4t 1
33 4019 100g, 27| 1
34 FapNEs 1kg 1
35 ZACEA| O 1kg 1
36 = 2K ==& (2kog) 1
37 SE=PN =LY A 1
38 INEEIE:PN = LHAHEED, 1kg 1
39 S 0f XY =LHAF 1
40 Zlojxy = LHAF, HICHR 1
41 H =7t 1
42 Clze| LY, 1kg 1
43 =0{0 2| CHAIE, 1kg 1
44 Algo 1.8L, SHE 1
45 InE=rS; 14kg, HEA-& 1
46 EE 14kg, O/2t2& 1
47 85 1.8L, ®= 1
48 F5 WK, L4t 1
49 s8 238, It 1
50 TEZE =LHAE, 1kg 1
51 AH 1kg, RE7| 1
52 oo 1kg, RE7| 1
53 FSHED) 1kg, AHR7) 1
54 FSHEAS) 1kg, AHR7 1
55 | StE | ¥EZHES501 151/8, 81 1
56 C A2 (8*8)ea, Lt 1
57 ofH M2Z (200ml) 1
58 Ot S N[ 1
59 Feaa(® YY) | Skg, AFZSHE

60 243 Tkg, SHE 2

61 S=A 5kg, 57|

62 = ESES 1.8L, Q7| G

63 EEF 4509, 57| =

64 SR 450g, 7t227% =




65 n&e|7tE 100g, A& = 1
66 SIdE 3kg, CJ ea 1
67 g4 3kg, CJ ea 1
68 geE 3kg, CJ ea 1
69 SHAETIA kg, A = 1
70 Foteta 18L = 1
71 Efstn R CH M 1
72 =N 1.8Kg = 1
73 2= 100g, Y12 ea 1
74 = 1000ml, 27|, =4t | H 1
75 H1E 1000ml, StEE, LA | S 1
76 == 18L, s1H o 1
77 A" QE7, 3.3kg o 1
78 HAEEAA QET|, 2kg E—H. 1
79 o 2| o7 A A QEEY|, 2kg “*—“. 1
80 22 LYt kg 1
81 7hmt =LY A kg 1
82 7tots LYt kg 1
83 Mz =LYt kg 1
84 CER2[HA LY A kg 1
85 o M LA kg 1
86 HAEIHA LA kg 1
87 M&olHA LYt kg 1
88 HY == =LHAF kg 1
89 OFxf | &F 1 cF 1
90 SNk LA kg 1
91 S mES = LHAF kg 1
92 FADN; =LHAF kg 1
93 g2 LA kg 1
94 CHIz} LY kg 1
95 Z ot = LH A kg 1
96 LEtE| 7 =L Kg kg 1
97 Xl = L4 10Kg kg 1
98 oot =LHAF kg 1
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